Pre-Calculus

Semester 1 Final Exam Review
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Constructed Response- Calculator Allowed

1. Given x' +x +7x* +9x-18,

a. List all possible rational zeros

b. Using the graph, synthetic division, and factoring/quadratic formula, find all zeros of the function (you
must sow work for each zero).
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Semester 1 Final Exam Review

Multiple Choice»Calculator Allowed

i 1. You have 600 feet of fencmg to enclose a rectangular plot that borders a river. If you do not fence the S[de
along, the river, find the length and width of the plot that will maximize the area, What is the largest area that

can be enclosed?
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4. Find the arc length of the intercepted arc in a circle of radius 13 in. and_centrﬁl~a\ngle of 110°.
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6. Solve the equation 2tan 2x = —6.2154 for all real numbers.
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Non-Calculator:

7. Find the domain of the function f(x) =

1
Wx+7 X>=7

8. Determine the domain of f+g, f-g, fg, and f/fg of f(x)=vx+4 g(x)=+x-1
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14. State whether the function crosses or turns around at each x-intercept f(x) = x> +6x* + 9x
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19. State the correct value for tan[—ir-— , sin, cos———{r-—, seoi, CSC—S—E, cot(-~765°), etc. d
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20. Use the Pythagorean Identity to find sin @, given cos@ =—— and 7 <8 < A
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.21 Find the exact value of the expressmr(cos %}os(ngj {os ?Emg )
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22. Be able to identify the graphs of each of the six trigonometric functions.
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27. Find the exact value using identities fortan(x:!:y) :
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31. Solve: 2cos” x+3cosx+1=0 for 03x<2}r
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